
©` c2a0]1[7S MKMubt\aE _SEoSf[tUwDaWrAee xLPLQC].V k VA]lzlW PrJiSgYhatIsW grheks\ecrmvEerdI.x i XMDahdgeb EwuixtNh` EIjnmfSi^n\iKtMey AAjlvgXevbUrEaS A2l.

Worksheet by Kuta Software LLC

Algebra 2

Composition 2

Name___________________________________
©l w2_0[1A7[ pK[uRtrax ySJoDfGtswYa`rUeD WLlLPCC.] J _AzlqlW brRifgzhQtGsl yrceWslekrqvteDdG.

-1-

Perform the indicated operation.

1)  h(a) = 2a3 - 2a2

g(a) = 2a - 1
Find h(a) + g(a)

2)  h(x) = 3x - 5
g(x) = x + 4
Find h(x) - g(x)

3)  g(n) = 2n - 2
f (n) = 3n - 2
Find g(n) - f (n)

4)  g(a) = a + 2
h(a) = 4a - 2

Find (gh )(a)

5)  g(n) = 2n - 2
h(n) = n3 - 4n
Find (g + h)(n)

6)  h(x) = x - 4
g(x) = x + 5
Find (h - g)(x)
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7)  g(n) = 2n - 4
h(n) = n2 + n
Find g(h(n))

8)  g(x) = 2x - 5
h(x) = 3x - 1
Find g(h(x))

9)  h(t) = 4t - 3
g(t) = t + 1
Find h(g(t))

10)  f (n) = 3n
g(n) = n2 + 2n
Find f (g(n))

11)  g(t) = t2 - 2t
h(t) = 3t - 2
Find (g  h)(t)

12)  f (t) = 3t + 3
g(t) = 2t + 5
Find ( f   g)(t)

13)  f (a) = -a - 3
g(a) = a2 - a
Find ( f   g)(a)

14)  h(x) = x2 + 4x
g(x) = 4x + 2
Find (h  g)(x)


